
SAP ABAP table REXCITIREDATA {IRE data without Register Office data}

REXCITIREDATA

CURRENCY [CUKY (5)]

IRECALCTYPE [CHAR (2)]

TCODE1 [CHAR (4)]

TCODE2 [CHAR (4)]

TCODE3 [CHAR (4)]

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 REXCITIREDATA-CURRENCY = TCURC-WAERS 
0..N

0..N

TIVXCITIRECALCP

MANDT [CLNT (3)]

IRECALCTYPE [CHAR (2)]

 REXCITIREDATA-IRECALCTYPE = TIVXCITIRECALCP-IRECALCTYPE 
0..N

0..N

TIVXCITIRETCODE

MANDT [CLNT (3)]

IRETAXCODE [CHAR (4)]

 REXCITIREDATA-TCODE1 = TIVXCITIRETCODE-IRETAXCODE 

0..N

0..N

 REXCITIREDATA-TCODE2 = TIVXCITIRETCODE-IRETAXCODE 

0..N

0..N

 REXCITIREDATA-TCODE3 = TIVXCITIRETCODE-IRETAXCODE 0..N0..N


